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28 EHR/NAR MBIV —NRERER

1{8(6:25%)
F &

3

FRR284 118
{#(7:05%) 5{8(10:30) 7{E(12:10) 9Of#E(15:30) 11{&(17:30)

BEox B OX B R

-3

M. 5=4(FF) ~5 (#) DFE. 6=5(

REEC
2| NN AT 2 3 5
K EAIES 6 11 14 1 1 33
4 BRETS 67 31 1 1 1 101
5| 1 5 2 8
6| ¥ A B{E B AT 8 2 3 1 14
F= FEE 3 61 24 4 1 93
15 5 3 17
8|tHiEO 1 1
9| REERT 15 15
10|lLFH 16 16
11| EEF LAl
12| 7EAREIERT 1 18 10 3 6 5 19| 24
13| EFIASE DI IIERT 1 1 2 1 3
HEF1IX 2 1 1 23 2
15| 1% 2 EME S Al 3 3 1 1 7 1
16|/\iEEIL (K FETO) 2 1 14 8 5 1 21 10
17| RS &I 7 11 78
18| B8k AU ERAT 3| 141
19| Fa &f 4R 8
| 20| S & K IER 49 26
21| R EHI 3
22| R ARINFARET (SLILE R 6 2 1 6 3
23|JLBEE H i
24
| 25
26| 5 K mbeRi (]
INET 41 41 ] 301 296 177 136 ] 102] 39] 18] 18] 14] 13] 653 [ 543
26| K mirail )
| 25| £ ERAT[E]
BEEETED] 14 26 13 12 7 72
24| 9 TSHHI 33 1 64 20 8 125 1
23|t REE S Al 1 1
22| F AR/ (G ILE SR 1 1 3 1 1 2 5
21| R R EHI 1 2 2 5
20|{E 2 A5 6 4 9 3 15 7
19| T8 &1 h 4% A1
18| EERAUEERAT 39 3] 26 65 3
17|BRETER 14| 23 8 1 1 23| 24
16/ \E#EIL CKAFRTO) 1 32 20 2 1 54
15| S EME /AT 10 2 4 2 18
14[FF1X 1 1 31 1 32
13| FIASE OBEEIIERT 2 1 5 1 7
12| 7ERREERT 15 5 8 15 6 3] 29[ 23
| 11| BEgF At A 1 1
10|lLF A 1 1
9| REERT 2 2
8|HEO 1 1 2
1|&L 2 4 1 7
T~ FERE 1 19 22 13 12 1 66
A= EISLD] 3 5 7 2 17
5| g E 2 1 2 2 3
FEETE 1 13 14 15 2 1 44
FIEITES 14 15 12 12 53
2| N/ 2 1 2 1 6
EEIO) | HE B B0 B W B 68
[ INET | [ 17] 221 96] 137] 106 169] 79 79] 41 42 ] 339 ] 449]
H | 41| 41] 318] 318] 273 ] 273] 208 208] 97| 97] 55[] 55| 992 [ 992
T IUREER X A% X A% X A% X A% XM A% XE A% XA ARG
1 1 1 1 1 1 1
2 3] 2 35| 2 2 2 2 2 38
3 3 24| 3 22| 3 3] 3 3 3 49
JREGEERAT 4 4 1| 4 4 4 4 4 1
5 5 5 il 5 5 5 5 1
6 6 il 6 il 6 il 6 il 6 6 4
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 i 2 2 1
3 3 3 3] 3 7l 3 3] 3 1] 3 24
BEREITE 4 4 4 1] 4 5| 4 5| 4 4 21
5 5 5 5 2] 5 5 5 2
6 6 il 6 4] 6 7l 6 4] 6 6 16
| 7 7 7 7 2] 7 7 7 2
OXEIDEEHH: 1=FEREXVYAT. 2=1(

BEE) ~2(IRB/N) DE. 3=2(RE/N ~3(2)DE. 4=3(2)~4(F=)
#) ~6 (BME) DS, 7=6 (BME) ~7 (izL) DR



28RAFETRNR[IRBIL—F]IRBERER TRE284E128

1{#(6:25%)
E &

3{E(7:05%) 5{#(10:30)
E B O B

7{E(12:10)
E &

No. e & %

9{#(15:30)
%

£

11{%(17:30)

3

gt

3

| 1|EERE($)
2| B /NEEARHT 4 1 4 1
BRI EAITES 6 11 1 1 1 20
AFETE 47 21 2 70
5| 8EE 6 1 7
6|2 ERE /B AT 1 5 2 2 1 11
7~ FEE 46 27 5 4 82
15 E 12 6 18
8|tHED
9|t REERT 13 13
TR 2 2
11| Bt Al
12| 7EA&EIER 3[ 18 6 4 5 4 8 1 22| 27
13EFIASE DAEBRIEHT 3 2 1 6
14EFEF1IX 22 2 1 2 26 1
15| S EME AT 1 1 3 1 5 1
16\ (K FArO) 2 2 16 5 4 1 22 8
17| B ETER 9| 38
18| BEkAEER AT 118
19| &R P 22 AR AT
| 20| {5 & A JERI 42| 22
21| R ZEHI 1 13 1 1 2 2 2 18
22| #A/NEHET (SLILFERET) 8 4 2 10 4
23|JLBEE A AT
24|92 TS5HRI
| 25| 2 ERBIT[ ]
BEEITEIED
26| % SRRl &)
INET 255 255] 160 129] 94 351 14 12] 20 20] 543 ] 451
0 = BR AR 42 5(0:4 4182 (2 01 -“ o 0 018(16 §(18
26| % SRRl 58]
| 25| &R ERAI[ ]
| | BUEERAI[#] 19 16 13 29 4 81
24| Y TS5HHI 48 3 57 15 3 123 3
23| JLREE A FT 1 1 2
22| A/NEHAT GLILEERET) 3 1 4
| 21 | R ST I 2 1 2 1 1 5
20[{E 2 A[ERT 4 8 6 5 8 10] 21
19| B &R P P4 AT
18| E &k U ERAT 23 1 36 59 1
17| B ETER 2 15 28 21 2 1 1 1 38| 33
16)/\IEHE L (K FHTO) 1 22 19 1 1 42
15| S EEZ AT 10 1 1 5 1 1 2 17
14EFEFIX 1 38 1 40
13[FHIASE OFER X IERT 1 1 1 1 2
12| 7ER&EERI 16 5 11 15 8 2 1 36 22
| 11 BB it A
10lLFO 1 15 16
9| REEAT 3 1 4
8| B0 1 1
1&E 7 2 6 15
7~ RER 376 1 18 10 14 13| 376 [ 56
6| #ia 2 ER{E /B BT 25 10 4 2] 25| 16
5|BEE
EETE 1 14 19 10 44
FESES 13 9 10 10 42
2| B /NIRRT 401 3 2 406
EEEE) N N - N N N N
[ INET | [ 420 420 102 133] 110] 169] 78] 80] 45] 45| 755] 847
i ] | | 675] 675] 262 262] 204 204] 92| 92] 65| 65] 12981298
T IUREE XA A% X A% XM A% X A% XA A% XE A% X AKE
1 1 1 1 1 1 1
2 2 31 2 2 2] 2 2 2] 2 35
3 3 15] 3 25| 3 2] 3 3 1] 3 43
JREEERAT 4 4 4 4 4 4 1| 4 1
5 5 5 5 5 5 5
6 6 6 2] 6 1] 6 6 6 3
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 5/ 3 4] 3 7] 3 1] 3 27
BEREITE 4 4 4 8l 4 2| 4 6] 4 4 16
5 5 5 5 5 5 5
6 6 377 6 4] 6 4] 6 1] 6 2] 6 388
17 7| 7 1l 7 7 _ 7 7 | 1
OXEDEHEM: 1 =FEREKLYAT. 2=1(FERE) ~2(1E/N DR, 3=2(E/N) ~3 (&) D, 4=3(&) ~4(F=)

D, 5=4({F=) ~5 (&) DM, 6=5 (&) ~6 (EE) DfE. 7=6 (E{F) ~7 (5 L) DFF




- N = -3
28R RNAR[RBIIL—F]FEERER F 2941 H
No P 1{E(6:25%) 3{HE(7:05%) 5fF(10:30) 7{E(12:10) 9OfE(15:30) 11{%(17:30) INET
) E B ® B ® B ZFE B X B =® B ZE B
| 1|EERE($)
2| B /NEEARHT 1 1 3 4 1
BRI EAITES 11 9 1 1 22
AFETE 61 16 6 83
5| 8EE 4 1 5
6|2 ERE /B AT 1 3 1 5 4 5 18 1
7~ FEE 49 25 5 1 2 82
s 11 6 2 19
8|tHED
9|t REERT 15 15
N TRN=]
11| Bt Al
12| 7EA&EIER 7 13 10 7 4 6 23| 24
13EFIASE DAEBRIEHT 1 1
14EFEF1IX 21 1 21 1
15| EME BB 2 3 2 2 2 6 5
16\ (K FArO) 2 12 8 2 16 8
17| BRETERT 7 40
18| BEkAEER AT 1] 125
19| &R P 22 AR AT
| 20[{E & A JEHT 23| 21
21| R ZEHI 8 14 1 4 9 18
22| #A/NEHET (SLILFERET) 7 2 7 2
23|JLBEE A AT
24|92 TS5HRI
25 BRI
BEEITEIED
26| % SRRl &)
INEF 248 | 248 141 ] 111 92 44 14 13] 17 17] 512 433
0 = BR AR 42 0:4 418 (8 015 O 15 . 018 0 5 O
26| % SRRl 58]
| 25| &R ERAI[ ]
| | BUEERAI[#] 12 23 11 13 5 64
24| Y TS5HHI 45 3 60 1 17 5 127 4
23| JLREE A FT 1 1
22| A/NEHAT GLILEERET) 1 1 3 1 12 3] 15
| 21| H R 3T F Al 3 5 1 2 2 4 9
20[{E 2 A[ERT 3 9 3 3 3 6 15
19| B &R P P4 AT
18| E &k U ERAT 41 1 37 78 1
17| B ETER 2 12 15 4 1 2 18 18
16)/\IEHE L (K FHTO) 1 30 1 19 3 1 53
15| S EEZ AT 6 4 1 2 2 1 3 13
14EFEFIX 2 1 32 1 1 35
13[FHIASE OFER X IERT 1 1 1 1
12| 7ER&EERI 12 8 15 10 5 1 1 1 33| 20
| 11 BB it A
10]lLFA 16 16
9| A REERI 1 2 3
8| B0 1 1
1&E 2 2 1 5
7~ RER 369 17 10 25 11 | 369 [ 63
6| N BME B A 5 6 15
5|BEE 1 1
EETE 7 12 16 35
KBTS 15 12 6 12 45
2| B /NIRRT 369 2 371
EEEE) N N - N o N N o
[ INET | [ 382 382] 99 129 98] 146] 81 82] 49 49| 709] 788
i ] | | 630 630] 240 240] 190] 190] 95[ 95] 66| 66] 1221 [ 1221
T IUREE XA A% X A% XM A% X A% XA A% XE A% X AKE
1 1 1 1 1 1 1
2 2 32| 2 2 2 2 2 32
3 3 17] 3 23] 3 4] 3 3 3 44
JREGEERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 2] 6 1] 6 1l 6 2] 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2] 2 2 2
3 3 3 2] 3 2] 3 5] 3 1] 3 20
ERTE 4 4 4 10[ 4 3] 4 1] 4 4 24
5 5 5 5 5 5 5
6 6 369 6 3 6 5 6 7] 6 6 384
17 7| 7 2 7 7 _ 7 )
OXEDEHEM: 1 =FEREKLYAT. 2=1(FERE) ~2(1E/N DR, 3=2(E/N) ~3 (&) D, 4=3(&) ~4(F=)
DfEl.5=4({F=E)~5(#) DR, 6=5 () ~6 (EME) DR, 7=6 (EE) ~7 (G L) DM



28 EMRNAR[MBN—MRBRRER FR29% 2R

118(6:25%) 3{E(7:05%) 5fE(10:30) 7{E(12:10) OfE(15:30) 11{%(17:30)

[ E ® B % B @ F &

REEC

2| NN AT 2 2

K EAIES 12 1 13

JFETD 60 12 3 75

5|85 = 4 4

6| ¥ A B{E B AT 4 5 1 2 12

F= FEE 55 28 1 8 1 93

1BE 13 13

8|tHiEO 1 1

9| REERT 15 15
10|lLFH 3 1 4

11| EEF LAl

12| 7ERREIERT 7 12 5 5 4 5 2 18] 22
13| EFIASE DI IIERT 1 1
HEF1IX 1 18

15| 1% 2 EME S Al 2 4 6 1 12 1
16]/\iB#Edt (KA FETO) 11 7 4 1 15 8
17| EREFEa 5| 34
18| B8k AU ERAT 1] 134
19| P &R AR
| 20| {E S K JEHT 37| 15
21| R EHI 13 16
22| # AN AT (GLILBRED 9 1 1 4 10 5

23|JLBEE H i
4[5 TSR

| |&FERAT[ 5]
26| 5 K mbeRi (]
INET 273 [ 272] 132] 97] 83] 32] 23 18 7 7] 518 426
26| K mirail )
| 25| £ ERAT[E]
| [AEEREIR] 11 11 16 21 5 64
24| 9 TSHHI 42 44 14 3 103
23[dLEE AT
22 [F AR INERRET (SLILASFD) 7 2 9
21| R R EHI 2 1 2 5
20|{E 2 A5 4 4 2 6 2 6 12
19| T8 &1 h 4% A1
18| EERAUEERAT 54 28 82
17| RS TR 11 22 7 2 1 3 19| 27
16/ \E#EIL CKAFRTO) 1 26 21 5 53
15| S EME /AT 8 3 2 6 1 2 18
14[FF1X 5 25 30
13[EBIASE DA EB R ERT 1 1
12| 7ERREERT 11 1 11 10 3 1 1 26 12
| 11| BEgF At A
10|lLF A 13 13
9| HA REERT 2 2
8| HHEO 1 1
5L 3 2 3 8
T~ FERE 500 11 16 31 13 | 500 71
A= EISLD] 4 7 9 1 21
HEEES 1 1 1 1 2
FEETE 10 4 12 1 27
FIEITES 1 16 3 9 7 36
2| N/ 500 1 1 502
EEIO) I N N - N N N |
[ INET | [ 512] 513] 79[ 114] 82 133] 93] 98] 37[ 37] 803 ] 895
H | [ | 785[ 7851 211 ] 211 ] 165] 165] 116 ] 116] 44| 44] 1321 [ 1321
T IUREER X A% X A% X A% X A% XM A% XE A% XA ARG
1 1 1 1 1 1 1
2 2 37 2 i 2 2 i 2 2 39
3 3 17] 3 23] 3 i 3 2] 3 3 43
JREGEERAT 4 4 1| 4 4 4 4] 4 4 5
5 5 5 5 5 5 5
6 6 6 4] 6 6 il 6 il 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 4] 2 2 4
3 3 3 2] 3 4] 3 7l 3 10[ 3 23
BEREITE 4 4 4 7 4 4] 4 10 4 4 21
5 5 5 5 5 5 5
6 6 500] 6 2] 6 8] 6 10[ 6 3] 6 523
- | 7 7| 7 | 7 7 _ 7 7 ]
OXFEDEEEHM: 1 =FEREKXYAI. 2=1 () ~2(E/M) DR, 3=2(E/N) ~3 (&) DfE. 4=3(%F) ~4(F=)

M. 5=4(F=E) ~5 (8) DfE. 6=5(#) ~6 (EE) DfE. 7=6 (EE) ~7 (FL) DfE



28 EHR/NAR MBIV —NRERER

1{8(6:25%)
F &

3

fE(7:05%) 7{E(12:10)

®x =&

5{8(10:30)
[

S

3

£

-3

FRE2943 8
Of#E(15:30) 11{%(17:30)

REEC
2| NN AT 1 1 2
K EAIES 10 5 3 18
4 BRETS 26 16 2 2 46
5| 1 9 10
6| ¥ A B{E B AT 1 3 1 6 10 1
F= FEE 50 38 1 1 2 92
15 9 2 1 12
8| BN
9| REERT 16 1 17
10|lLFH 20 2 22
11| EEF LAl
12| 7ERREIERT 3[ 2 14 1 8 4 2 27| 26
13| EFIASE DI IIERT 1 1
HEF1IX 21
15| 1% 2 EME S Al 7 2 1 9 4 1 18 6
16|/\iEEIL (K FETO) 1 1 8 12 3 2 1 12 16
17| RS &I 6 75
18| B8k AU ERAT 89
19| P& &8 AR 2
| 20| S & K IER 47 19
21| R EHI 7 1
22| R ARINFARET (SLILE R 9 1 2 11 2
23|JLBEE H i
24
| 25
26| 5 K mbeRi (]
INET 38 33] 221 220] 164 125] 99 43| 26[ 21 8 8] 556 455
26| K mirail )
| 25| £ ERAT[E]
BEEETED] 25 20 12 18 3 78
24| 9 TSHHI 1 37 40 1 20 8 106 1
23|t REE S Al 3 2 3 2
22| F AR/ (G ILE SR 1 12 1 12
21| R R EHI 1 1 2
20|{E 2 A5 1 4 4 2 1 4 6 10
19| T8 &1 h 4% A1
18| EERAUEERAT 22 50 72
17| RS TR 1 3 14 22 12 1 1 27| 27
16/ \E#EIL CKAFRTO) 1 32 13 4 1 49
15| S EME /AT 9 3 1 5 3 1 20
14[FF1X 1 2 35 1 39
13| FIASE OBEEIIERT 1 1
12| 7ERREERT 19 14 8 11 27| 25
| 11| BEgF At A 2 2
10|lLF A 1 16 17
9| REERT 2 2
8|HEn
5L 4 1 2 1 8
T~ NER 15 9 14 17 55
6| A2 BME S Al 1 5 8 6 20
5| g E 2 2
FEETE 7 4 10 2 23
FIEITES 11 5 10 17 43
2| N/ 1 1 1 3
EEIO) . I B B E B 60
[ INET | [ 28] 29 92] 131 80 136] 61 66] 61 61 ] 322 ] 423
H | 38| 38] 249 249 256 | 256 | 179 179] 87| 87] 69] 69] 878 [ 878
T IUREER X A% X A% X A% X A% XM A% XE A% XA ARG
1 1 1 1 1 1 1
2 2 33 2 i 2 i 2 2 2] 2 37
3 3 16] 3 31| 3 3 i 3 3 48
JREGEERAT 4 4 1| 4 4 4 4 4 1
5 5 5 5 5 5 5
6 6 6 6] 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 7l 2 7
3 3 3 5] 3 3 8] 3 8] 3 21
BEREITE 4 4 4 5 4 3] 4 3] 4 4 11
5 5 5 5 5 5 5
6 6 6 4] 6 6] 6 3] 6 2] 6 15
7 7 1] 7 7 7 7 1

M. 5=4(F=E) ~5 (8) DfE. 6=5(#) ~6 (EE) DfE. 7=6 (EE) ~7 (FL) DfE

7
T ORBOLER 1= ERELYE. 2=1 (R ~2(RE/) OB, 3=2 B/ ~3(Z) DE. 4=38(%) ~4 (F=)




28T RNAXR[REIL—R]EBRRAER 2844 B ~294 3 A
No. BT 1{8(6:25%) 3{E(7:05%) 5fF(10:30) 7{E(12:10) 9fE(15:30) 11{%(17:30) INEE
' g B FE B T B B ® B OE B O FE B
| 1|EERE[ 5]
2| MBIV 8 14 17 1 50 1 89 2
EETES 65 129 108 16 13 3 334
AFETS 591 281 33 8 2 915
5|88 5 65 1 2 2 4 78 1
6| ¥ 2 BMEHE 1 6 2 46 4] 43 1 25 14 135 7
7~ NEE 18 606 2 | 327 60 25 14 1050 2
1L 2 67 41 12 1 1 123 1
8| HiE0 2 1 3 6
9|t /N REERIT 135 46 12 1 1 195
[ TR=] 43 12 1 1 1 1 57 2
11| EEF Lt Al 1 1
12| 7EAFEERT 218] 108| 50| 45| 53 65 4] 275 325
13| HIASE DFEEBXIERT 15 1 15 1 2 2 32
14FESE1X 274 1 70 27| 12| 14 8 1] 301 43
15| T SEEMESHT 46 1 15 7] 50| 14 3 1 2 1] 116] 24
16[/\iB#EIL (K FATO) 9 9l 145] 85| 43 18 2 3] 197] 117
17| RHREFTERT o 117] 679
18| Bk AU ERAT 13 | 1292
19| 78 & B 24K Al 42
| 20| {5 & A JE AT 406 | 241
21 [ R FERI 80| 40 2 14 6] 30 5 88| 95
22| AN BT GLILFERET) 1 77| 23 8 3 11 88| 39
23|JLEEE AT
24[ 5 TS5HHI
| 2516 Bl
26| S RbrRi (3]
INET 270 | 270 ] 2957 [ 29372023 [ 1481 ] 995 528 ] 210 192 172 170 ] 6627 [ 5578
26|55 SRRl $] 4 4
25| f 2 ERAI[E]
EETEIED] 194 259 210 196 62 921
24| T S5HHI 3 1] 512 26 769 21] 262 3| 51 1597 [ 51
23[dLBEE A 5 2 5 2 10 3 7 10 37 7
22| FAR/NEEHT GLILEESAT) 4 9 6 3] 39 4 5 1 20| 51
21| R IZFAI 8 4] 24 6] 19 5 1 4] 19| 52
20[{E & ARIERT 1 73| 106 56 78 3 22 1 1] 134 207
19| T8 5 Fh 2R A
18| E kR IEERAT 322 10| 483 1] 805 11
17| RS FER 3] 39] 186 273] 92 14 8 16 5 5| 294 347
16[/\tBHBt (K SFHTO) 2] 11 323 2| 210 45 3] 13| 583
15| S EEFE AT 110 1 44 12| 49 3] 35 1 16 | 239
14[EFEF1X 2 3 34 9| 386 5 3 12| 430
13| HIAIE DTEBXIERT 4 16 1 15 1 1 2 7] 33
12| 7EAFEERT 187 | 109] 130 | 144]| 82 13 13 7] 412] 273
| 11| BEEr 4L Al 11 1
10[lLFA 3 1 1 61 66
9|t /N REERT 17 7 7 2 33
8| B0 1 1 5 3 10
1B LE 51 1 26 22 5 1| 104
7~ FEE 1246 2 231 168 211 182 1246 | 794
6 [ ¥ 2 ER{E S Al 25 4 26 69 64 21| 25| 184
5|BEE 3 1 2 8 13 3 3 27
AEETES 3 1] 176 148 107 67 1] 501
RIEATES 1 164 107 107 141 520
PALAN =N ] 1274 22 19 32 18 1365
| 1[RERE(3] e 69 136 236 178 98 717
[ INET | | 1496 [ 1521 ] 1255 [ 1792 [ 1301 [ 1768 | 888 ] 906 | 627 | 629 | 5567 | 6616
i | 270 [ 270] 4453 | 4458 | 3278 | 3273 | 2296 [ 2296 | 1098 | 1098 | 799 [ 799 [12194 [12194
T IUREER X A% X A% XM A% X A% XM A% XM A% X OAHE
1 1 1 1 1 1 1
2 15[ 2 347 2 5] 2 4] 2 1 2 7| 2 379
3 3] 3 248] 3 285 3 44] 3 1] 3 3] 3 594
JREEERATIT 4 4 6] 4 1| 4 4 4 1| 4 12
5 5 2| 5 2| 5 5 5 5 4
6 6 5] 6 34] 6 12[ 6 9] 6 3] 6 63
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 25 2 16] 2 41
3 3 3 62| 3 48] 3 72| 3 126] 3 308
BERESTE 4 4 4 122| 4 26| 4 49] 4 14] 4 211
5 5 5 6] 5 7l 5 i 5 2| 5 16
6 6 | 1246] 6 35 6 80[ 6 64| 6 21] 6 | 1446
7 7 8l 7 ol 7 7 il 7 18

7
O X DEEHEHS: 1 =REREL YA,

2=1 (&R ~2(Ra/I) DE. 3=2(RB/N ~3(2)DE. 4=3 (&) ~4 (F=)

DfE. 5=4(FE) ~5(#) DfE. 6=5 (&) ~6 (BME) DfF. 7=6 (EfE) ~7 (F L) DM



